Sr Questions Answers Choice

273 +C
273+ K
273 +F
w S

1 TK=—___

73

173
273
373

2 o it gy 386 ) IS S sl

73K

173K
273K
373K

3 d@ﬁ\xﬁuﬁj}l\sdﬁau}g-

0°C
32°C
100°C
212°C

4 dﬁﬁ\xm‘);ﬂlsdﬁ.ud\ﬂ.‘igji-

0°C
4°C
32°C
100°C

5 o ity Gl 1S IS il ¢y i

10
50
100
180

6 = U LS i (e gmas il I8 S S Sl )8

0°C
50°C
100°C

7 o il 53 88 ) 1S U i

0°C
4°C
10°C
25°C

8 o 5 16 5 1S IS Gl

10
50
75
100

9 = U LS anlil (e g il K S S i

Uow» UOowr Ow» UO0W» OOWr» OUO0Wr»r ODOWrPr UOWr U0

10 o S Jaaid e S S Giley S pand  pshple-

11 = Y568 AL S (g S -

12 = el AL S (5 S e

ODOm» DOmP DOTP
w
[$)]
3
(@]



